KEERT OFRTHEHE (5F0 7 47 H 25 HEE&S)

(1) A0 T3 ] X3
B - F sk N F sk N
wrabE | | mR | ReEB#EE | R5.3.31 AN - ~ fR7E4EA B KIS B
i LIRS EZ i EZGHA A N BEAND B _
X Juk 4 (ha) ANEEEAN) (FN) INEER) BT INEER)HB S
(FN) (+N)
$30.12.9 $57.2.23
M KHERT —E | 3,942 0.0 0.1 0.0 0.1 R R mERAE
95 1438 & W74 B
(2) FH 4 ik
R
H?EEJ% L P P T
B - . Pl 2o
B N . s s . . . PHEZE | I Y HRTE B E e E
St | TR | (R ﬁﬂ; | | e | A ;};H BT A A
Kigs | 4 | A T oM | sk | Hus ” T - - R
JH Hit g (ha) (ha) HREE HREE
Mg (ha) (ha) (ha) (ha)
(ha)
(ha)
$55.8.21 H7.12.12 R2.10.20
WEE WEERT | 13.0 66.0 64.0 13.6 1.4 6.1 16.0 26.0 | 206.1 | MIERTE R | OBEERT SR WEERTEIR
%85 32 5 36 5




(3)HT T3 - e B

M i &
#ori | fHEFAR | fREFAR
. rH | fE NS D| TR . .
Gt Fow |4 B R e NEETR) | AEGEER)
E B K S e A R FprtE | | (od)
[ngﬁ% (n’l) (n’l) %% %%
W W | W P \ e, e 531,105
oo || L] M | 680 | 9 [DRUERT RFREZTH] DEER] R R 55 I BB R
o | Al %5 1562 &
¥ JEETF $31.10.5 $45.10.9
2.2.1 s iR | 360 | 16 [PUEMT R0 L ST DBERT R8T L R 4% HRE SR | BEREER
AR 51562 5 | H5 987 5
BRATA ‘ o . i - _ EERT R R $31.10.5 | R2.10.20
2.3.1 | | HFESL | 280 | 12 POEERTRFRETHITE DGERT R FHT I T ARAT | HERAER | PEERT R
PRAlTHR Xl Y 1562 B 535 &2
— S31.10.5
L2 | A | 700 | 9 PREERTIR T RIR T DHERT R 4T L AL LT FERA R
i %5 1562 &
BRAMTAT \ N B N L[ PREERTHRNE | BRAT 531.10.5 | R2.10.20
2.3.2 ) HiFA 11,090] 12 [BEERT R TR 50T 7Y DOCHERT K Rl 5 1 e L 2,280 | ERCAE R | BHEATE R
FE AEES R 5 1562 = w535 B
RHETE
Y ‘ - B - g kR H26.7.28
3.5.6 | @Bl | ML 12,900 14 PUEERT A TR TR H R Sl kS o o RN 11) B b R
. J I E S %533%
rE—R
G 6 1 6,010 2,280
5 R WHERT o H8.12.13
gh 131 | 5,340| 24 [WHEMT L A HUPE I R IOHERT KSR TR IR o 1R R
s TLAR S TFIRA %1109 B
% HiFA 3,850 24
= B | 630 | 24 PEERTRFILIETAMR RN KA TR
mi B | 370 | 24 DBEERT R ESRF IR FREIR DBERT R SR IR TR IR
fEEI | 490 | 24 PUEERT RSB FRAM DBLERT AN B e
& 1 % 5,340
AT 11,350 2,280
37 4 11,350 2,280




(4)2N =

o . LR
Ay | i it A ISR P e,
R . L { R . V&Y
| | | F B & fir e i P bj; o | -
g = /N T = /N T n
X4 (9 ha) (#9 ha)
X 100
X KEERT KPR E T H2.11.26
% ;% 2.2.2 7k FH 207 5] * 0.31 . o B 0.31 100
T NF HipN MWEERT S R 35 25 =&
Pk 8.5.1 | HBLYT AR | PEENT KT HETAR | 21.80 Hz9.6.2 R4.9.50 C 2.30 0.1
0. 12 HULAT /IS o gL . . . . . . .
“NF| wEERER F4195 | mERER F6Tl 5
wa s MEERT K7/ T a7 H1.7.28 H19.2.27
5.5.1 | MEEREAR | 35.00 B o B o C 0.00 0.0
NI ERY (i) mERAER 882 5 | mERER #1561 &
i ( 314) 57.11 2.61 4.6

g ( 31) 57.11 2.61 4.6




(5) BRAETA Y

[T PE T 4 < RE A I
BV orben | wa | wenn TS PO T T e ﬁ&;%z M T E;J;El =
X i, S TR I VT Bl B * R - B Va0
(nd) (nd) (N/H) EIRE
$42.10.12 R2.10.20
N o . NG| ) B N . L
MIE | OBGERT | OBERR | WA | R s [P0 | 2280 - A G | PEEITER 2.3.2 SRR A FH
7 5 3468 - 45 35 B
B)ANIETAKIE
O fE#£
S g HEK KIg i (ha) N7 paBEt e
- ML d TEm =
k|, o | Bk | S| | BEFIEF | PUEMEAR | BEEAEA A
éfaz% Zl T7k':'§ %ﬁ 57\ (hat) E (m) % @f’é % @f’é /§+@§+ %%%% %%%%
’ 4| Al B | Cc |3 At .| ~ | x100(%)
¥ (m) | ¥ (nd)
&t
TR . B [ 0] 206 | 119 | 325 | 325 | 3,150 | 0 0 29,550 S56.1.16 RLS5
Fie T N T2 HENT L 7
= fij |0 188 | 114 | 302 | 302 | 3,150 | O 0 11,550 L Ay 107
QA I
. i H g R =
Sy . [ i ~ B . o I
ik k|, | ki b % g%‘i s L g‘f
hik T B RAT FHmE e, e F A 1% . FEE | HRES -
| A TR e | s PO e ) PR g | oy | TS SEE ) g
I ZhE B (m) 8 B (m) % 100(%)
e REERT KT |
WHE 1 7 o b | POERTRF N N ,
. VE K fﬁfm%itﬁﬁé Feeny 0.8~0.5 2,710 0.8~0.5 2,710 157K 100 S56.1.16 R185
i R ZN T T AR = T T AR =
RO AT oy S 4 5 PR [BORATA ”??ET ”gﬁf
%*%g EBTAR |[EETAR | 04 440 0.4 440 7Bk 100 = ~
1Y) ET EHT

Oz




I AT —— o, " ST AL | WL RE REFEH A HEETAEH B
iy, | TOTRA AR AL R P br & R | mEeD) | i/H) | ErEE R
e MEEH LB 22— e )
HERT 2% i, THER] R FRB 1L SRR 22,600 11,550 3,470 556.1.16 R1.8.5
wie | owmser | (2= WEENT R | W
WPAGH | waskmpivs #— | WEERT KBy 7 6,950 3,250 375 w1 16 2




(7) — o> A Bl P A= L ST AT HI T Bl M

#B ffE (ha) KO fi#5 INHe R jeiet7)
i " DO @ 6| el @ = T 2 AR BERNE
= BRI S| | & - S gk s
| SIEIEI®I R o Hso [ n g | AR
i atr | BB E ol B - | o B T USYERE
£t | &) B BE) = 4 | R | ER HESRe AR B | rE
x oy IR B R O | At L f5e 7 PR T
% % = % % aX R (m) (m) | L AR PR EE RR L
2 % 2 X
4 % Hh
1 R
& %3, 3.7/34.5 11.449.6 j 14 | 770
AT i
X
. — ®+‘ ) ‘ e UNR
B (@%iitRy, e, Y., SR i
LR N 70 1.3 F129.3.23 | R3.12.1
T v - ha H200 H60 — g e
W (omdk. wrE. SBR[ K \ U
U4 - - 12~8 | 5,050 EoKE H35 | HB18F
Jitd @ ) Tk
4
w | o
| o ©
o | 0.5 6.5 6.6/10.3/23.9 1400 H80
IR X [E] AT NS
OB (DRMEAMR, RS |, e
] NS UKBE: | semsiimonn) | rshmoEn)
T EET S,
4 Hh o _ 3 H200 160 H30.3.30 | R2.10.20
G o, e SRR, || N T
 — g AT 14~4 | 6,400 O.1ha | (reaasiy-ere | eeasio-s |~ | PORATE /R | DORAT 7R
’%‘ DA, HH EIKGE | semsimean) | EsiR@n)) HLTH | B
En % - i TAKE 1200 H60
i ’ it RUAOHER) | (RO KR
B | oo o (ERRSAAORERD | (RS OHER)
3 0.5/10. 2134. 5 6. 621. 7/73. 5 12, 220




